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We define a transducer pushdown automaton (TPA) to be a finite au-
tomaton that contains an unbounded stack and an unbounded output tape
in addition to its finite input tape. More formally, a TPA M, is a tuple
My = (Ko, X0,T0, Ao, so, Fo) where Ky is a finite set of states, ¥y and T’y
are finite sets of symbols (the input and output alphabet, and the stack alpha-
bet, respectively), A is the transition function, sy € Ky is the start state, and
Fy C Ky is the set of final states. The transition function Ag is of the form
Ay C (KoxXox (ToU{e})) — (Kox (ToU{e}) xEf), where ¢ is the empty word.
Each transition consists of My reading exactly one input symbol, popping at
most one symbol from the stack, changing state, pushing at most one symbol to
the stack, and appending a string to the output tape. Each configuration of M
is an element of Ko x X§ x I'§ x 3§, consisting of the current state, the remaining
symbols on the input tape, the contents of the stack, and the contents of the
output tape. A transition exists between configuration C' = («, aw, bs, 0) and
configuration C’ = (8, w, ¢s, od) if there exists a rule (a, a,b) — (5,¢,d) € Ay,
where «, 8 € Ky, a € Xg, w € 5§, b,c € (TogU{e}), s € I§, o,d € X§. It can be
seen that each TPA is deterministic and always halts.

We define M = (K, X, T, A, S, F) as a system of n TPAs, where each TPA ¢
has a unique finite set of K; states such that

n—1 n—1
K=|JK, () K=0,
=0 =0

Y is a finite alphabet of input/output symbols, T" is a finite alphabet of stack
symbols, S = {s; : s; € K;,0 <1 < n} contains the start state for each TPA i,
and F' contains the final states for each TPA ¢ such that



The transition function, A € A’ U A”, is defined as a subset of the union of
the intra-TPA transitions and inter-TPA transitions. The set of all intra-TPA
transitions is

n—1
A = [J((Ki x T x (T U{e})) = (Ki x (T U{e}) x £%)).
i=0
The set of all inter-TPA transitions is

n—2

A = U ((F; x {#} x{e}) = ({sit1} x {e} x {#})).

=0

A configuration of M is an element of K x (X4 X I'* x ¥4)™ where Yy =
(3* U{#}). The initial configuration of M is

(so, (W#,e,¢), (g, 8,8)y...,(g,€,€)),

where w € 3* is the input to M. A final configuration of M is of the form

(fa (57 Y0, 5)7 (57 Y1, 5)7 ey (#7 Yn—1, T)) )
where f € F,_1, r € ¥* and {vy; : v; € I*,0 < i < n}.
Let ‘+’ be a binary relation on configurations called the transition relation. A

transition relation exists between configuration C; and configuration Cy denoted
C1 F Cy if (O is of the form

(a, (p(aw#, bs, 0)x))
where o € Kj;w,0 € 58 €T ae ;b€ TU{e});p€ (Bpe XTI X By )P x €
(Zp xIT* xXy)4p+qg+1=nand C; is of the form

(B, (p(w#, cs, 0d)x))

where 3 € K;;d € ¥*;¢ € (T U {e}) and a transition rule of the following form
exists in A

(a,a,b) — (B,¢,d)
or, if Cy is of the form

(f, (W(#, 6, w), (¢, €)w))

where f € Fi;1p € (B xI* x Xp)Piw € (Np x I x ¥y)p+q+2=mnand
C5 is of the form

(5i+17 (1/)(5, Tp+1;s 5)7 (w#a &, E)W))
where v,41 € I'* and a transition rule of the following form exists in A

(f,#,€) = (sit1,6,#))

We denote the reflexive and transitive closure of F as F*. An accepting
computation for M with input w exists if and only if Cinitiar F* Crinat Where
Cinitial is an initial conifguration and C'finq is a final configuration.



